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General Instructions :

(1)
(it)

(iii)

(iv)

()

All questions are compulsory.

The question paper consists of 34 questions divided into
four sections — A, B, C and D.

Section A contains 10 questions of 1 mark each, which
are multiple choice type questions, Section B contains
8 questions of 2 marks each, Section C contains
10 questions of 3 marks each and Section D contains
6 questions of 4 marks each. ‘

There is no overall choice in the paper. However, internal
choice is provided in one question of 2 marks, three
questions of 3 marks and two questions of 4 marks.

Use of calculators is not permitted.
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SECTION A
QUE A

Question numbers 1 to 10 carry 1 mark each. For each of the
question numbers 1 to 10, four alternative choices have. been
provided, of which only one is correct. Select the correct choice.

T97 G 1 G 10 9% Y% 97 1 Hb F 5 | ¥I7 G 1 G
10 § 99% J99 & [e7@ IR fabey fow 7T &, ﬁlﬂﬁ@%ﬁﬁ@
agt 8 | g fawey g |

1. If the equation ax? + 2bx + ¢ = 0 has equal roots, then the
value of ¢ is

(A) %2;
B) - Zé
©) b—z

a
(D) %z—

?Jﬁ‘{@:ﬁWTaX +2bx +c=0 %@W% e A 7

2
@
2
(B) "ZE
©
- a

2

(D) ’;La
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2. The 5™ term from the end of the AP, 2,7, 12, ..., 47 is
(A 22
B) 27
(C) 32
(D) 17

AR GO 2, 7, 12, ..., 47 H I ¥ yigat gz 2

D) 17
3. Which of the following pairs of lines in a circle cannot be

parallel ? |

(A A chord and a tangent

(B) Two chords

'(C) Two diameters

(D) Two tangents
?ﬁ%ﬂ‘q’ﬁﬁﬁﬂ%ﬁ@ﬁﬁﬁ%m—@@lﬁﬁ%?ﬁﬁ
ehal 7 -

(A) T ST T wet Y

(B) & e

C) T =g

D) ¥ et g
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4. If PR and PQ are tangents to a circle with centre O | ,
and Z RPQ = 60°, then £ QOR equals

(A)
(B)
(©)
(D)

140°
120°
160°
130°

afe O &% ol g9 H PR T pPQ d w3l W@rd § e
/RPQ = 60° 8, 4 ~ QOR TN §

(A)
(B)
()

D)

140°
120°
160°
130°

5. The number of tangenté that can be drawn from an external
point to a circle is

(A)
B)
(C)
(D)

g

(A)
(B)
()
(D)
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6. To draw a pair of tangents to a circle, which are inclined to
each other at an angle of 45°, we have to draw tangents at
the end points of those two radii, angle between which is

(A) 105°
(B) 135°
(C) 140°
(D) 145°
T 99 W T 3§ el wend, s oeud ¥ 45° WOge g, S
%W%‘ﬁ‘i@fa fremei & Rl W wef Tl die € e

. 7. If the area of a circle is numerically equal to twice the
circumference of the circle, then the radius of the circle is

A) 3

B) 4

) b5

(D) 8
Hﬁ{fﬁ?gﬁ?ﬂ&ﬁ?ﬁﬂwwwwﬁwaﬁqﬁﬁléﬁgﬁ%
TR 3, Fﬁgﬁﬁﬁwé

A) 3
B) 4
©) 5
(D) 8
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8. If the radius of a sphere becomes three times, then its
volume will become

(A) Three times

(B) Six times

(C) Nine times

(D) 27 times |

afc foredl M @ Breen fa & @ ST, @ 9 SEad @
ST

(A) dF T

(B) B T

(©) T

(D) 277

9. The shadow of a 5 m long stick is 2 m long. At the same
time the length of the shadow of a 12-5 m high tree (in m) is

(A) 30

(B) 35

(C) 45

(D) 50

5 7. ol T B H ST F oers 2 1. %lﬁ?%sﬁrw
12-5 W, 9 Ug & BT & aqmrg (W H) el

(A) 30

(B) 35

(C) 45

(D) 50
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10. A coin is tossed twice. The probability of getting head both
times 1is

(&)

(B)

o D A

(C)

(D) _
% 99 & IR IS T | Q1 ) a3 & Wl @
(A) .

et

(B)

Al NI

(C)

i

(D)

SECTION B
Qug 9
Question numbers 11 to 18 carry 2 marks each.

T FET 11 @ 18 TF FAF A & 2 3% & |

11. If x = g and x = — 3 are the roots of the quadratic equation .
ax’ + Tx + b = 0, then find the values of a and b.
qﬁx:%ﬁ% X=—3WW&X2+7X+b=O%%
g, A 2 dd b % HA Fd HI |
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12. Find the sum of first 10 terms of an A.P. whose 5! term is
— 3 and its common difference is — 4.

ww%ﬁ%qmwwwaﬁwmmﬁww
T —3 ¢ a7 WESTR —4%!

13. From an external point P, two tangents PA and PB are
drawn to a circle with centre O. If OP equals diameter of the
circle, prove that A ABP is an equilateral triangle.

Iq % el o fag P ¥, g9 & WRl W@d PA 991 PB @idl
ﬂé%lwﬁ:%wéﬁoéwopaﬂésm%w% il
WW%AABP@W@W%I

14. In a circle of radius 7 c¢cm, a square ABCD is inscribed.vFind
the area of the circle which is outside the square.

7 9 = 9 99 & 3T U o7 ABCD ST T € | 9
% 3G 9T H A% FA KIST S v G WL 7 |

15. Three metallic cubes, whose edges are 3 cm, 4 cm and 5 cm,
are melted and recast into a single large cube. Find the side

of the new cube formed.

dF g F A, fSAdr qend 3 W, 4 S @ 5 ¥ €, H@
e TF 98 99 & &9 § e T 8 | 9T a4 a9 ¥
F ST T HINT |

16. Find those points on x-axis, each of which is at a distance
of 5 units from the point A (5, —3).

-3 W T frg T FRC BFE S g g AG, - 3) 9
5 THE & g W |
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17. Find the third vertex of the triangle ABC if two of its
vertices are at A (-3, 1) and B (0, -2) and the mid-point
of BCis at D (2, 1).
3§ fe ABC ®1 A ¥ i Fif fo 3 ¥ A -3, 1)
T B(0,-2) WE 41 5 ST BC # 4eA-foRg D (2, 1)
R 2

18. A bag contains 4 red, 6 black and 8 white balls. A ball is
taken out of the bag at random. Find the probability that
the ball taken out is
(i) not red,

(i1) red or black,
(iii) white.
OR
When two dice are tossed together, find the probability that

sum of numbers coming on top is less than 7.

T I H 4T, 6 el a9 8 Whe e ¥ | 9 H ¥ wh e
I B o o ) A 112 [ < o (11 B B o [ K R

@) e TR A R,
Gi) e SYEl Fe T & R,
(i) Hhe T H B |

STeraT

S d U T 99 9 S9 §, 9 W AW Al gemsd &
A 7 H FH B & TGhar Fd Hiow |
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SECTION C
gug 9

Question numbers 19 to 28 carry 3 marks each.

Y97 GEAT 19 § 28 A% A% Y97 & 3 3F & |

19. Solve for x :
X +X_1=4;X7'—'0,1
x—-1 X

OR

Solve for x :
J3x? —2J2x — 243 = 0
x % rT'I'Q%'FT IS

X x-1
_|..

=4, x #0,1
x—1 X

| rar
J3x2 - 2y2x — 2J3 =0

20. Find the sum Qf all positive integers between 300 and 700
which are divisible by 7.

300 § 700 % = 37 9l g9 QUSRI H AMRS FA HiC S
79 farsa € |

21. Two concentric circles are of radii 6-5 cm and 2-5 cm. Fi}nd
the length of the chord of the larger circle which touches the
smaller circle.

OR

Prove that the tangents drawn at the end-points of a
diameter of a circle are parallel.

30(B) 11 P.T.O.
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22. Write the steps of construction to construct a A ABC in
which sides are 4 cm, 5 cm and 6 cm. Then write the steps
of construction to construct another trlangle whose 81des are

é—rd of the corresponding sides of A ABC.

TF AABC & A1 & U5 faf@w fwel ¢ 4 94, 5 99 a«
6T | I & o= Brqe & W@ & Ie fafay foger e

A ABC & €T gmaﬁwgw%’l

23. The radius of a circular garden is 100 m. There is a road,
10 m wide, running all around it. Find the area of the road
and the cost of levelling it at ¥ 2 per sqm. (Use n = 3-14)

T gEER ST & e 100 HL | 39% @ET & SR 10 H.
gt ged ot €, S o % gft 3R ¥ W 2 | ek A
GTF T I GHAA FH H =F T 2 UG 9 AL H R W I
FNT | (n = 3-14 T FHIWT)

24. A sphere and a cube have equal surface area. Show that the
ratio of volume of sphere to that of the cube is /6 : V/x.

OR

The largest possible sphere is carved out from a solid cube

of side 7 ecm. Find the volume of the sphere. (Take T = 27%)

30(B) 12
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37T
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25. The angles of depression of the top and bottom of a 30 m
high building, as observed from the top of a tower are 45°
and 60° respectively. Find the height of the tower and the
horizontal distance between the building and the tower.
(Use V3 = 1-732)

Th HAR % fFRe ¥ & 30 W 9 999 & IR 991 uE &
3TEIHT 0T AT 45° 991 60° § | HHAR # 9 Fd SiST
T HAR qe1 waq & &9 dfas g g i |

(V3 = 1.732 AN FfS) o

26. If the point (x, y) is equidistant from the points (a + b, b — a)
and (a—b, a +b), prove that bx = ay.

I g (x,y) g3 (a+ b, b—a) A (a—b, a + b) ¥ THGET
%, Fﬁ%ﬁﬁl@ﬁ"bx:ay

27. The vertices of a A ABC are A (1, -1), B(5, 1) and C (-1, 3). If
D is the mid-point of BC, verify that AD divides the A ABC
into two triangles of equal area.

AABC® ¥ A(1,-1),B (5, )T C (-1, 3) % | afg BC =
Te-fag D 8, @ Tfua SINT fF @S AD, A ABC # T
T &aha arett frqsi § afear €
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28.

29.

Cards with numbers 2 to 101 are placed in a box. A card is
taken out from the box at random. Find the probability that
the card taken out bears a

(i) perfect square number.

(ii) number divisible by 7.

T TR W 2 W 101 HEH O He W@ B | g H 9 TE Fe

Wﬁmwumﬁwwaﬁmﬁﬁmﬁmmw
G ot ot den sifsa 2
Gi) Ut der g S 79 fawrsy ®© |

SECTION D
©uE
Question numbers 29 to 34 carry 4 marks each.

YO G 29 T 34 7F IF FT F 4 3F & |

The length of a rectangular park exceeds its breadth by 5 m.
If the area of the park is 594 sq.m., find the dimensions of
the park.

OR

A dealer sells an article for ¥ 75 and gains as much
percent as the cost price of the article. Find the cost price
of the article.

T AGAER I B o ST e ¥ 5 . ﬁ%% | 3fg

Uk T S% 594 1 AL 2, d Uk S [EEE i ST |
SrgEn

T AU Y T T T 75 0 U 9% %k HF oA & SR
NI oMY FEET | G H Hd qod Fid RIS |
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30. Two A.P’s have the same common difference. If the first
term of the two A.P.’s are 3 and 8 respectively, find the
difference between the sum of their first 50 terms.

OR

The first term of an A.P. is 5, the last term is 45 and the
sum of all its terms is 400. Find the number of terms and
the common difference.

3 g AT % 9™ 3K gHH § | gfe @ oHieR aforar
% YU S SHHYE 3 AT 8 F, dl 39 AW 50 UaI & ANTHSA H

FN @ HINT |

Agar

T GHIGR ST H Y99 U 5 €, AW 9T 45 @ 991 SEF g
9el & IR 400 8 | Tol H @A 9U7 Grd ST A FIGT |

31. Prove that the lengths of tangents drawn from an external
point to a circle are equal.

s sifve 6 forelt @l fog ® \%%W@ﬁﬂ%@ﬁi@aﬁ
I EEd §9E adl § |

32. If the radii of the circular ends of a bucket, 28 cm high, are
28 ¢cm and 7 cm, find its capacity and total surface area.

(Use t = %)

T TH AR, %maa”remézsﬁﬁ% & TR il & e
28 ¥ qAT 7 Tt ¥, o WIet H IR qA ol YA G

I FIET | (n=§mﬁnaﬁm)
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33. A hemispherical bowl of internal diameter 30 cm is full with
some liquid. This liquid is to be filled into cylindrical
shaped bottles, each of diameter 5 cm and height 6 ¢cm. Find

the number of bottles necessary to empty the bowl.

T onefiieer e, frger siiafies =9 30 99t 2, foreh w7 @
P 2 | T9 59 I SoHGR Ardel, S S 5 9 a9 e
6 B, W WU ST B | Wdel % U ¥d HeT Y §aT
H U 5T W S G

34. A vertical tower stands on a horizontal plane and is
surmounted by a vertical flagstaff of height 6 m. At a point
on the plane, the angle of elevation of the bottom of the
flagstaff is 30° and that of the top of the flagstaff is 60°.
Find the height of the tower. (Use /3 = 1:732)

T FEER WER dfae 99 W wE § 99 3W W 6 H. A
FeAlE SNEre T R | 99 & Uk fog 9 Seve & U &
SHAT FHIVT 30° T U AU F (AW H IAGA K0T 60° R |
TR # 39 39 HC | (V3 = 1-732 T i)

30(B) 16 - 1,000



